2 : (200) HEXTS & © (200) RETAHS
HE : (234) 752 S : (401) NlEHIL2THY (9l : @2
oomoMNE-= maey | Cha | =2

= Al 63,743,135| 39,665,095| 24,078,040
200 NEEXE 63,743,135| 39,665,095| 24,078,040
230 SEFHS 45,785,751 22,811,883 22,973,868
234 P=EE 34,378,525 | 14,648,761 | 19,729,764
401 A&HIZ2CHYI 34,378,525 | 14,648,761 | 19,729,764
01 A&l 33,128,525| 13,610,970| 19,517,555

[Jok==1t 28,448,505

0 S2(8,9,1027) ot=2= FHHIAIY 2,867,352

- =4l 1,747,000,000& = 1,747,000

- &bl 350,000,000& = 350,000

- Al 600,000,000& = 600,000

- J|=2 170,352,000& = 170,352

o Z=(1,227) ot=2Z HHIAI 5,693,087

- =4l 4,411,000,000& = 4,411,000

- &Hi 883,000,000& = 883,000

- J|3 399,087,000& = 399,087

o EYHel(3,1027) ot==&=Z FHIAY 8,529,636

- =4l 5,902,000,000& = 5,902,000

- &l 1,181,000,000& = 1,181,000

- AlHl 1,200,000,000& = 1,200,000

- J|2 246,636,000& = 246,636

o S8, 524(127) ot=2=2 FHlIAIY 5,112,000

- =4l 3,156,000,000& = 3,156,000

- &l 632,000,000& = 632,000

- Albl 1,016,290,000& = 1,016,290

-Jl= 307,710,000& = 307,710

o0 EYHel(9,1027) St=Z=E FHIAL 1,000,000

- =4l 500,000,000& = 500,000

- &l 100,000,000& = 100,000

- AlYI 374,962,000& = 374,962

-Jl= 25,038,000& = 25,038

o &SKF =E0t= o= FHIALY 2,342,860

- =4l 1,640,000,000& = 1,640,000

- Altl 634,298,000& = 634,298

- Jl= 68,562,000& = 68,562

o ==X+ sE0I2 o= HHIALY 380,000

- =4l 266,000,000& = 266,000

- AlHl 102,885,000& = 102,885

-J|12 11,115,000& = 11,115




2 ¢ (200) HEHTE 8 © (230) RETIAHS
N (034) PEE S : (401) AlEBIZ 0] (9l : ®3)
o.o8-NE- S maey | Cha | =2

o st&IXI 7 sE0IS o= HIALY 908,570

- =4l 636,000,000& = 636,000

- AlHI 246,011,000& = 246,011

-J|12 26,559,000& = 26,559

o ¥=X+ sE0IS o= &HHIALY 1,171,430

- =4l 820,000,000& = 820,000

- AlHl 310,363,000& = 310,363

-2 41,067,000& = 41,067

o & X+ sE0IS o= HHIAHY 428,570

- =4l 300,000,000& = 300,000

- AlHI 113,477,000& = 113,477

-2 15,093,000& = 15,093

o &FAl ot=E&H| J|2H &8 HE 29 15,000,000& = 15,000

[] 2tak 2,310,010

o = Fol+2=Z FHIAIY 1,000,000

- =l 500,000,000& = 500,000

- &l 100,000,000& = 100,000

- AlHI 362,384,000& = 362,384

-J|12 37,615,500& = 37,616

o0 Ot Al L OHES AL 500,000,000& x 14 = 500,000

o0 otx=% S MEDR 2152 H| 400,000,000& x14] = 400,000

o ot=% JIHELEZA 400,000,000& x14] = 400,000

o XXl &E4E X2l 77,000& x130€ = 10,010

Oea3 2,370,010

o - Sot+22 FHIAIY 1,000,000

- =4l 500,000,000& = 500,000

- Hl 100,000,000& = 100,000

—Altl 362,384,000& = 362,384

-Jl= 37,615,500& = 37,616

oot Al X NS AL 500,000,000& x 14! = 500,000

oot+=E S MEDRA g2 500,000,000& x 14! = 500,000

o ot== JIHELE3A 300,000,000& x 14! = 300,000

o XXl E4E XMel 77,0003 x130€ = 10,010

o GiP 2N E2H SUE A WNALY 60,000,000& = 60,000
02 Zeldl 1,200,000 1,000,000 200,000

] St==1t 1,200,000

o HASA(12F) ot=2Z FHIAL 1,200,000

- Aldl 1,200,000,000& = 1,200,000
03 AlZ=0HHI 50,000 37,791 12,209




2 ¢ (200) HEHTE 8 © (230) RETIAHS
N (034) PEE S : (401) AlEBIZ 0] (9l : ®3)
o.o8-NE- S maey | Cha | =2
[ ot==1t 24,080
0 524Xel(3,10287) ot Z FHIA 7,200
- AlHI 7,200,000& = 7,200
o 8, ZL(12F) ot=2Z HUIAIY 3,600
- AlHl 3,600,000& = 3,600
o0 52Xel(8,9,108F) ot=2Z HHIAY 3,600
- AlHl 3,600,000& = 3,600
o AEX+ sEOIS ot==ZHIALY 7,200
- Alt] 7,200,000& = 7,200
o 3K+ sE0IS o= ZHIA 720
- Alt] 720,000& = 720
o0 X7 sEOIS ot=Z=ZHIAHY 680
- Alt] 680,000& = 680
o ESAT sEOIS o= ZHIAY 1,080
- AlHl 1,080,000& = 1,080
[] 2tak 12,960
o = Fol+2=2 FHIAIY 1,000,000,000& x0.36% = 3,600
o0 Ot Al L OHES AL 500,000,000& x0.72% = 3,600
o0 otx% S MEDR 2152 H| 400,000,000& x0.72% = 2,880
o ot=% JIHEEBA 400,000,000& x0.72% = 2,880
Oeax 12,960
o = ot+22 FHIAIY 1,000,000,000& x0.36% = 3,600
oot AlE & NS AL 500,000,000& x0.72% = 3,600
oot+% S MEDIR 25 2| 500,000,000& x0.72% = 3,600
o ot=% JIHELEZA 300,000,000& x0.72% = 2,160
235 JIAHIEX 11,066,226 8,049,122 3,017,104
401 Al&HIZ20HYI 11,066,226 8,049,122 3,017,104
01 Al&H| 11,020,080 8,009,042 3,011,038
O, SR UFEHO I IR EROEHLE DR g 45504
- JIH, &2| 2,000,000,000& = 2,000,000
- A5 ES 850,000,000& = 850,000
- AE==2 100,000,000& = 100,000
- Ot=ot=% 535,042,000& = 535,042
0 ot=XclE SEAY 775,038
- =4l 500,000,000& = 500,000
- & H 250,000,000 = 250,000
-J|12 25,038,000 = 25,038
0 ot=Xcl&E IHEAY 2,510,000




2 ¢ (200) HEHTE 8 © (230) RETIAHS
Mg (235) IR S : (401) AlEBIZ 0] (9l : ®3)
o.o8-NE- S maey | Cha | =2
- HLMO|IE)RH, AEMA, St=HMeld Ut AE S
2,450,000,000& x14] = 2,450,000
- ot=Held AstE AE3F ¢ 30,000,000& x14] = 30,000
- EHANE S3P0KS (BAaUEE AL QUG AAE)
=Hl 10,000,000& = 10,000
- EHAHE S3P0KS (BAaUEE AL QUG AAE
AlHI 20,000,000& = 20,000
0 ot AFEHA D AlLIHEALS 850,000,000& x 14! = 850,000
0 St=XMelaE MOISSt MEAIHA ZH(HILE, s2E+-33AE S)
1,000,000,000& x14!l = 1,000,000
o St=HMel& UK EZAAE REAL(Z0IMIIZE SDIEX EX )
1,500,000,000& x14!l = 1,500,000
o ot=XclE =& 2LIHY AL 900,000,000 x 14} = 900,000
02 Zeldl 30,000 30,000 0
o St=HMel& & SAHEIIRE) el 30,000,000 x14] = 30,000
03 Al&=20HYI 16,146 10,080 6,066
o Ot==XclE e SA 4,485,000,000& x0.36% = 16,146
236 Xttt 341,000 20,000 321,000
405 KHHFESHIS 341,000 20,000 321,000
01  XheHFESHI 341,000 20,000 321,000
] ot==1t 326,000
o ot=Xel& =40 2 200,000,000& x 104 = 200,000
ool+Xel& HEEY g 100,000,000& x1CH = 100,000
ool=1t HRE Xt 2 26,000,000& x1CH = 26,000
[ 2ak 15,000
oot=% BRI Xt AL 15,000,000& = 15,000
250 SEIALIIEHHIRSAHAFS 1,500 0 1,500
251 MM ARHS 1,500 0 1,500
406 JIELAE0IA 1,500 0 1,500
o Kot SEEE 22AAE £ S=HI 1,500,000& = 1,500 1,500 0 1,500
260 HIJts&HIXHAHFS 11,243,384 14,353,212 23,109,828
261 HESCIXtat 11,243,384 14,353,212 23,109,828
402 QItXE01M 11,243,384 12,085,212 A841,828
02 OCIZHTHEAFSYI 11,243,384 12,085,212 A841,828
0 ol=ZZ BTLAIZE AlEQIHE 11,243,384
- =l 5,952,000,000& = 5,952,000
- &l 595,000,000& = 595,000
- Aldl 4,000,000,000& = 4,000,000
- J|2 696,384,000& = 696,384




B0 (200) RIS 5 0 (280) HISERTIAE
ME : (282) HEXQUD 22 Mg = . (p01) HU2ETAE (crgl : me)
Dog A= 0l ko oﬁii =2
280 HIRSSats 5,200,000 300,000 4,900,000
282 ALEXU=Z A2 A&t 5,200,000 300,000 4,900,000
601 XU=|A=4tE 5,200,000 300,000 4,900,000
02 A2 FANSMLIIZSXNLSAS A E 5,200,000 300,000 4,900,000
0 ST XSINLI|2(2012.6.30) =2 A& 2,000,000,000& = 2,000,000
o @AA2IRS XHIMEI|2(2012.6.30) =2 A2 1,200,000,0002 = 1,200,000
0 Ol=Xel HYUFRSE HHIAIY XD I|2 68 209 ZD|Atst
2,000,000,000& = 2,000,000
290 JIEtA=2EX= 62,500 100,000 A37,500
299 JI|EtXI=2E XS 62,500 100,000 A37,500
402 QIZEAHE0|A 62,500 100,000 37,500
01 OQIZEXNSAIEEZX 62,500 100,000 37,500
o UE0IEAL EXI X 22,500
- &4 11,250,000& = 11,250
- Alt| 11,250,000 = 11,250
0 SMOISAIE EX| XFAIHE(ZEE W 8IA) 40,000
- &4l 40,000,000& = 40,000
800 oilH|H| 1,450,000 2,100,000 A 650,000
801 odldlH] 1,450,000 2,100,000 650,000
801 odlHIb] 1,450,000 2,100,000 A 650,000
o oigly| 1,450,000,000& = 1,450,000 1,450,000 2,100,000 650,000




